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a—F e S8 (kg) %8 (F) =i i FolE PE (LD
Y3122 ‘ 50 2,587| 59 43 3 BN 50k |
30300 15 2, 430 81 81 81| BA 304 |
Y3015 324 22 22 ISR 205
32600 400 22 11 11| BN 27K
31800 24 5, 627 65 32 27| BN 1223
31900 12 5, 335 648 378 324 | BN 12kg |
36800 9 7,290 864 864 702 | BN Okg |
¥3041 % 3 745 248 248 248 | BN 3kg
34400 _ | 56 15, 725 292 281 270 | B 56kg
34460 2 756 76 76 76| BN 105y s |
34270 6 1,944 | 76 76 54 | B 30K
35220 6 2, 054 | 389 389 270 | B bkg
35303 7 8 4,968 | 648 648 540 | &M 8kg |
Y3026 %97 ERALE D (F) 2 1,188 54 540 540 | B 2kg
35402 LXED 8 7,452] 1,080 972 810 | BH 8kg
Y3033 | Z2HAL 15 2,916 194 194 194 B 15kg
36200 E58aE - 120 20, 844 194 162 162 | BN 120kg
36650 ZEfTERE 10 1,620 65 65 65 | B 25K |
33400 | LA Z 25 3,156 65 62 62 | By PN 501 B
33410 H=—LH R 3 162 11 11 11 &R 15{#
33300 T m vy — 18 4,158 1238 238 238 | BN 18kg
38100 AL 1 680 756 756 756 | BN 1kg
35600 & XiF 1 346 432 432 432 | BW lkg
Y3017 EEY 1 1,517  1,566| 1,566 540 | BP9 lkg
41806 7= ANA 342 35, 856 756 216 216 | 5™ 861 > b
46108 ERIEI D EE 92 89, 586 324 281 281 | BN 30673y 7
71011 A7 L —% 33, 642 65 59 43| B 6404
53456 | 7= 7ol 4 1,080 270 270 270 | B 4kg
Y5008 | /MASEIE 1 54 54 54 54| B lkg N
Y3019 FD D 5 11,448 2,808 2,376 1,944 5ke
V5010 | obix (&) 5 4,298 810 810 756 5kg
30100 VI A 30 1,296 43 43 43 30K
30100 VN2 A 80 3, 542 443 443 443 843
30200 A L 12 432 11 11 11 404
30300 A% 50 8,748 1,836 1,728 1,728 54— %
31100 B 75 6,372|  1,620] 1,620 756 54—
33500 T & 1 113 16 16 16 748
33810 HHEE 4 1, 620 1,620 1, 620 1, 620 17—
Y5005 4 7K3E A 5 1,534| 1,534 1,534 1,534 147 —=
32600 4 4 216 11 11 11 2048
31800 || 5 FLAE 4 1, 242 65 65 59 2048 |
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a—F fn Eik | PERR (kg) &% (M) Sl E 2l | e H (A7)
131950 B L 9 2, 592 864 864 864 | IR S 37—
31900 ¥ S 10 2, 808 324 108 108 |FE IR 207K (500g)
32800 126 5 3, 240 65 65 65 | ‘= Ik 505
34300 729 2L 5 1,728 1,728 1,728 1, 728 | HEAS 11—
34400  h= b L 36 11, 664 1,296 1,296 1,296 |REAR 97—
34460 I =L E Lk M 5 4,925 205 205 205 |BEIR B 24,8
34460 I =L FE L S 2, 592 108 108 108 |EIR B 2408y
34200 P/ 30 5,184 1,728 1,728 1,728 | =2 —y— 34 —2

! SUR _

34520 FRr—< S 2 1, 350 1, 350 1, 350 1,350 | IR & 17—
36600 7oEFnE LKk 80 10, 152 2, 700 2, 484 2,484 | iEE 4 —=
37200 L x 9 2L 12 4, 536 1,620 1, 620 1,296 | [E 37—
33410 F=—L %2 5 130 5 5 5IEIRE  24fH
Y3092 ALY — Y —7 4 540 27 27 27 | BEIRE 2048
Y3096 TLHLRY—T 3 486 32 32 32 | EIR B 5% |
33600 /SE Y 0 108 54 54 54 | t& [ 248
38100 A LW 7oif 6 4, 428 86 65 65 EIE 6073 7
31310 A3 8 1,296 32 32 B2 ERE 404%
31500 /MASE 7 2, 084 76| 54 54 BB 3748 |
32500 HIE 2 1,285 76 76 76 | K4y 173H
34800 B b 1 324 32 32 2% A4 10% K
37560 BT 1 2, 376 324 324 270 | K%y 8%y

38604 T U v XE 3 2,916 97 97 97 181 304%
41806 =AM 2L 0 1,512 756 756 756 | BEVR B 24—
Y4022 YrVaF 10 2,803 2,808 2,808 2,808 HA 14—
46000 WhHZ ' 6 2,938 162 | 140 140 | fEA 20,3
46108 SAMEONEE M 1 734 184 | 184 184 IR B Ry

B &t ) 1,386 370, 039
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